NAT 8252

T EATIERS

It Trafag BB ABR— U RMCH. FIEM B ERB URBTNEEHH
REEMRENERR R EATXEE NAT 8252 &N RE R ARHS
BRI, EBER S (RN 5 ) . EMWF NAT 8252 BIFH 15
2 MFREHBENF K. RERLMAIREHERERE -40°C £ +125°C A
R NAT 8252 R W BEBS NI SR ER N A SRR AL R

FZF

o HHHE

0 RERSA

» BETH

0 EEER

s IERIZEAR
o kKRR

FERR

B\

TLFHERONEIERERS, FHMINEH
RERKHR RS

EEC: 5 fEMENE

HEEC: FFX B 1572 PNP

RAIE

NERE pinpelil
NETE ..2.5%0...700 bar

0

0..30 F0... 10000 psi
4..20mA,0...5VDC,1...5VDC,
1..6VDC,0... 10 VDC FEAt,
0.5...4.5VDC tt&,

FF&igd: 1872 PNP

NLH @ 25°C (BSL) #2217 + 0.2 % FS BB E

BHES

fBE @+25°C #AE 1 0.5%FS BEE
NBURE -40°C... +125°C
RRRE -40°C.... +125°C

(EB4% PVC 22:-5°C ... +60°C)
(EB4% PUR 24: -40°C ... +70°C)
(E84% Radox Tenuis 88: -40°C ... +100°C)

Trafag sensors & controls Industriestrasse 11
Switzerland 8608 Bubikon

+4144 9223232
www.trafag.com

sensors@controls

12/2023

#iE&R H12303ag

EEE SR



NAT 8252

TR /RS REB

8252. XX XX XX XX XX XX

H72303ag

EE
[bar]
.25

o

.10
.16
.25
.40
.60
.. 100
.. 160
.. 250
..400
.. 600
.. 700

@|@|l@|@|@|leg|g||le|lE|@e|@2|=

#EHD 5P:
.25
.4
.6
.10
. 16
.25
.40
.60
.. 100
.. 160

@Z|@|@e|@|@|o|2|@2|@|=

XS ES

[bar]
1.5
12
18
30
48
75
120
180
300
480
750
1000
1500
1500

12.5
20
30
50
80

125
200
300
500
800

1BRED
[bar]

50
60
100
200
200
300
300
400
500
750
1000
2000
2500
2500

AfERE
60
100
200
200
300
300
400
500
750
1000

G1/4" JMELL, 2534 : DIN 3869 (Pt 61/63/83)

G1/4" ShRLy, B2 52 5% FEfE @ 0.5 mm, ZE: DIN 3869 (

Mt 61/63/83) 5

G1/4" SMES (EHFR) EN 837

G1/8"JMELL DIN3852-E, 25T i 619

1/4" NPT §pgLy
1/8" NPT §pgLy 2

7/16"-20UNF RE24L, SAE J512 Hifl & Hfd s ¢
7/16"-20UNF RE24Y, SAE J512 il )& kg ¢

7/16"-20UNF 5ME4L, DIN 3866 4
7/16"-20UNF-2A SME4L, SAE J1926-3 (FRY) , B : I

#61/639

75
76
7
78
79
80
81
82
83
85
74
84
86
87

55
56
57
58
59
60
61
62
63
65

7/16"-20UNF-2A SMELYL, SAE J1926-2 (Heavy Duty),

B K 61/63 1

EE BE 1BRED
[psi] [psi] [psi]
0..30 90 700 G5
0..50 150 850 G6
0...100 300 1450 G7
0..150 450 2500 G8
0...200 600 2500 GA
0...250 750 2500 G9
0...300 900 4000 HA
0...400 1200 4000 HO
0...500 1500 4000 H1
0...1000 3000 5000 H2
0...1500 4500 7000 H3
0...2000 6000 10000 H5
0...3000 9000 14500 G4
0...5000 12500 21750 H4
0...7500 18750 29000 H6
0...10000 18750 29000 H7
i RABE
0..30 150 1450 E5
0..50 180 1450 E6
0...100 450 3500 E7
0...150 700 4250 E8
0...200 700 4250 EA
0..250 1150 5750 E9
0...300 1150 5750 FA
0...400 1800 8500 FO
0...500 1800 8500 F1
0...1000 4600 19000 F2
25
17 ?41661"131)8UNF-2A HMBLY, SAE J1926-3 (BRA), Bt I 61
15 9/16"-18UNF-2A 4MB%y, SAE J1926-2 (Heavy Duty), -
53 EEMEEL
s R1/4" 524y, DIN3858 19
30 R1/4" 5MELL, DIN2999 9 20
n  RUE SMBLY, DIN3858 9! - 16
2 24110x1 SMZRZ, DIN EN SO 6149-2, JMBLL, BT : it 0
44 M12x1 SMERLY, SMELL, ZRE M 61 W 64
18 M12x1.25 JMBLL, SMBLY, Z2E : Mt 61 1) 65
0 I{\ZIFlgi(l.S 4M2ZY, DIN EN I1SO 9974-2, SMELL, B4t : [t 49
69 Iglllgxl.S HMEBLI DIN EN 1SO 6149-2, JMBAY, Z5t : M4 31
Big 2/14 sensors@controls



NAT 8252

8252. XX XX XX XX XX XX

BN BERAMEL, TALARE, #2855 9.4 mm, #1E} PA, EN 175301-803C 01
AL M12x1, 4 £, PA M%), IEC 61076-2-101 32
AL M12x1, 5 £, PA #441, IEC 61076-2-101 35
FEHESL MIL-C 26482, 6 51, £ /8 02
$f5H1E3k Deutsch DT04-3P, 3 D3
{EEHEL Deutsch DT04-4P, 4 §t D4
345, MEIPVC, IP67/IP68, 2 x 2 x 0.14 mm?2 ") 22
Fa45, FEIPUR, IP67/IP68, 4 x 0.25 mm?, i 7 24
345, ##IEPD Raychem FDR25, IP67, 4 x 0.2 mm?, Rk 7 08
45, #4%IRadox Tenuis, IP67/IP68, 4 x 0.5 mm?, Bk 7 88

RHES RHES Ak | 1 ({#e8) U (f#e8)
4..20mA MEFTR (=HHES) 24(9...32)VDC 19
0.5...45VDC? >5.0kQ % Us- <20mA 24(9...32)VDC 20
0..5VDC >5.0kQ % Us- <20mA 24(9...32)VDC 14
0.1..4.1VDCY >5.0kQ % Us- <20mA 24(9...32)VDC 28
0.1..5.1VDC¥ >5.0kQ % Us- <20mA 24(9...32)VDC 29
0.5...5VDC® >5.0kQ % Us- <20mA 24(9...32)VDC 2
1..5VDCY >5.0kQ % Us- <20mA 24(9...32)VDC 25
0.5...55VDCH >5.0kQ % Us- <20mA 24(9...32)VDC 24
1..6VDC >5.0kQ % Us- <20mA 24(9...32)VDC 16
0..10VDC >5.0kQ % Us- <15mA 24(15...32) VDC 17
1..10VDC >5.0kQ % Us- <15mA 24(15...32) VDC 26
0.1...10.1VDC >5.0kQ % Us- <15mA 24(15...32) VDC 13
0.5...4.5VDC kb= >5.0kQ % Us- <10mA 5(4.75...5.25) VDC 23
2 PNP &f{AE <10mA 24(9...32)VDC PS
1PNP &fAkE <10mA 24(9...32)VDC T

H72303ag D1f5 3/14 sensors &) controls



NAT 8252

8252. XX XX XX XX XX XX

Ref¥ FRFLIESK M12x1,5 §F 2 33
TbdrsEFLIESL (BB S0&EHE 01), EN 175301-803C 34
FEHIEERRETHE 0 1.0 mmo 40
FEHIEERRETH ¢ 0.4 mmo 44
Z$t FPM, -18°C ... +125°C 61
£ EPDM, -40°C ... +125°C 63
£} NBR, -25°C ... +100°C 83

RS | S R HlET 2+, HlET 3 R, HRSE 4

(RBTFHRHES 19 AEBBAESL 01, TUATE) %0
KSBRBI AR B 1 B, 5t 2+, 3BET 3 1B, 1ESt 4- o
((XBTHEES 13,14, 16,17, 20,22, 23, 24, 25, 26, 28, 29 AR AEX 01, TAARE)

KSHRE 0 B 1 +, 1R 2150, 1S 3 U, HEEt 4- os

(IRBFHHES 13,14, 16, 17,20, 22, 23, 24, 25, 26, 28, 29 FIE 28 /MK 32, M12x1, 4 §1)
Y|4  HlET 1+, 5T 2 8, HhE 3 -, S 4 W -
XATFmEES 13,14, 16,17, 20, 22, 23, 24, 25, 26, 28, 29 HEB IR ANEK 32, M12x1, 4 §t)
Y|4 1l 1+, st 3, st 4

(BTFHHES 13,14, 16, 17,20, 22, 23, 24, 25, 26, 28, 29 BB /AL 32, M12x1,4 §t)
YRS | A fe HRE 1+ H65 2 -, HEEt 4 153 0
XBTHHES 19 MBRAREL 01, TIingE)

Y| A T 1+, 5T 2 -, 1T 4 5 -
(RBTFiEmHES 19 FERAKK 32, M12x1, 4 £)

S|4 HEt 1+ st 2 -, 5 3 Y, st 4 15t

(XBTHHES 13,14, 16,17,20,22,23, 24,25, 26, 28, 29, ME S Ak 32, M12x1, 4 £)
Y5 |40 HE T 1 W, RS 2 -, M 3 +, 4 13t =
(Ed1ES 13,14, 16, 17,20, 22, 23, 24, 25, 26, 28, 29 MIEB R /AMEL 01, TAVARAE)

KRB | &R HEET 1+, 5 2 -, @5 3 Out, 4 $53t =
(EHES 13,14, 16,17, 20, 22, 23, 24, 25, 26, 28, 29 MBI /MEL 01, TAVARH)
YETRE | 45705  HET 1 +, YT 2 Hth, 4t 4 -

Gl

E2

(XSS 19 e /AEK 32, M12x1, 4 ) 2
WRS| LA A, S C - 0
(Wt (ES 19 A28 Ak Deutsch DT04-3P, 3 §t)

YS5KS| 705 1 E A+, RET B H, $EH C - -
(IRAFHEES 13, 14, 16, 17, 20, 22, 23, 24, 25, 26, 28, 29 FIFES2 /A ESL Deutsch DT04-3P, 3 )

KB | & HRE 2+, H6E 3 - 63
(& IES 19 AEEAZAHEX Deutsch DT04-4P, 4 £1)

KRS ISR HEE 1 h, 1R 2+, 1%t 3 - c

(IREFHHES 13,14, 16,17, 20, 22, 23, 24, 25, 26, 28, 29 FEB 2R\ 3k Deutsch DT04-4P, 4 §t)
KRS 4570 /5  HET A +, 1R EH C H, $E%H B/D -, #EHE #ith (HBADIEL) -
(IXEAFHLES 13,14, 16,17, 20, 22, 23, 24, 25, 26, 28, 29 FEB 2R /M sk 02, MIL-C 26482)
YRS |45 AR 5  HE T 1+, Hl%ET 2 -

((REFimLES 19 MBI AL 32, M12x1, 4 §)

Y|4 T 1+, i@t 3 - s
((RBTHHES 19 MBI AL 32, M12x1, 4 §)

YRS |45 AR/ d e 1+, 465 2 -, 15 3 -, 4 553 &
((WH{ES 19 AEBARAKEL 32, M12x1, 4 £)
YRS &mE R 1+, 4-

F4

(VS 19 FARBAES 32, M12x1, 4 1) 68
YSTEE|AAn S HE ST 2 -, 1R 3+ 4 it .
((UsH{ES 19 AR AKEX 32, M12x1, 4 5)

KRB & 1R 1+, st 2 0, 15 3 5t 1EEt 4 - 7
(XEBTHHES 13,14, 16,17, 20,22, 23, 24,25, 26, 28, 29, FIEEESAESK 32, M12x1, 4 §t)

Y|4 st 1+ 5t 2 1, 5t 3 - .
(N AFHEHES 13,14,16,17,20,22,23,24,25, 26, 28,29, MEEEEAEK 32, M12x1,4 §t)

BAKE 0.5m EM
H4KELOm M
B4KE2.0m 2M
BRRBEAERHTEINEE (WS PS, Tl (BREXRSH) c
TVESEIREAHES PS, TL (BRERSH) s
EZusak gl VM

H72303ag Dik5 4/14 sensors &) controls



NAT 8252

TR (B2 GHARR AR AR)
) KRR EHEE RABE fieg RBE @+25°C R
[bar] [bar] [vDC] &
[%]

NAT2.5A 825275251701 0000 0000 19 34 44 61 0..25 7.5 9..32 +0.5
NAT4.0A 8252762517 01 0000 0000 19 344461 0..4 12 9..32 *0.5
NAT6.0A 8252 77251701 00000000 19 34 44 61 0..6 18 9..32 +0.5
NAT10.0A 825278251701 0000 0000 19 344461 0..10 30 9..32 *0.5
NAT16.0A 825279251701 0000 0000 19 34 44 61 0..16 48 9..32 +0.5
NAT25.0A 825280251701 00000000 19 344461 0..25 75 9..32 *0.5
NAT40.0A 8252 812517010000 0000 19 344461 0..40 120 9..32 +0.5
NAT60.0A 825282251701 00000000 19 344461 0..60 180 9..32 +0.5
NAT100.0A 825283251701 0000 0000 19 34 44 61 0...100 300 9..32 +0.5
NAT250.0A 825274251701 0000 0000 19 34 44 61 0..250 750 9..32 *0.5
NAT400.0A 8252 84251701 0000 0000 19 3444 61 0...400 1000 9..32 *0.5
NAT600.0A 825286251701 0000 0000 19 34 44 61 0...600 1500 9..32 +0.5
NAT2.5V 825275251701 0000 0000 17 34 44 61 0..25 7.5 15..32 +0.5
NAT4.0V 825276251701 0000 0000 17 34 44 61 0..4 12 15...32 *0.5
NAT6.0V 8252 77251701 0000 0000 17 34 44 61 0..6 18 15..32 *0.5
NAT10.0V 825278251701 00000000 17 344461 0..10 30 15..32 *0.5
NAT16.0V 825279251701 0000 0000 17 3444 61 0..16 48 15...32 +0.5
NAT25.0V 825280251701 00000000 17 344461 0..25 5 15...32 +0.5
NAT40.0V 825281251701 00000000 17 34 44 61 0..40 120 15..32 +0.5
NAT60.0V 825282251701 00000000 17 3444 61 0..60 180 9..32 *0.5
NAT100.0V 8252 832517010000 0000 17 3444 61 0...100 300 15..32 +0.5
NAT250.0V 825274251701 0000 0000 17 34 44 61 0..250 750 15...32 105
NAT400.0V 8252 84251701 0000 0000 17 34 44 61 0...400 1000 15...32 +0.5
NAT600.0V 825286251701 00000000 17 34 44 61 0...600 1500 15..32 *0.5
NAT2.5AM 8252 75251732 0000 0000 19 3344 61 0..25 7.5 9..32 *0.5
NAT4.0AM 8252762517 32 0000 0000 19 3344 61 0..4 12 9..32 *0.5
NAT6.0AM 8252 772517320000 0000 19 3344 61 0..6 18 9..32 +0.5
NAT10.0AM 8252 78 2517 32 0000 0000 19 33 44 61 0..10 30 9..32 +0.5
NAT16.0AM 825279251732 00000000 19 334461 0..16 48 9..32 $0.5
NAT25.0AM 8252802517 320000000019 334461 0..25 75 9..32 *0.5
NAT40.0AM 8252 812517320000 0000 193344 61 0..40 120 9..32 +0.5
NAT60.0AM 8252822517 320000000019 334461 0..60 180 9..32 105
NAT100.0AM 8252 832517 3200000000 19 334461 0...100 300 9..32 +0.5
NAT160.0AM 8252 852517 320000000019 334461 0..160 480 9..32 +0.5
NAT250.0AM 8252 742517 320000 0000 19 3344 61 0..250 750 9..32 +0.5
NAT400.0AM 8252 842517 320000000019 334461 0...400 1000 9..32 +0.5
NAT600.0AM 8252 862517320000 0000 19 3344 61 0...600 1500 9..32 +0.5

H72303ag D1f5 5/14 sensors & controls



NAT 8252

Standardprodukte (extra kurze Lieferfrist)

s RENH EER BAEE fiteg EE @+25°C Ay
[bar] [bar] [vDC] &
[%]
NAT2.5PS 8252752517 320000 0000 PS 44 61 ZS 0..25 7.5 9..32 +0.5
NAT4.0PS 825276 2517 32 0000 0000 PS 44 61 ZS 0..4 12 9..32 +0.5
NAT6.0PS 8252 77 2517 32 0000 0000 PS 44 61 ZS 0.. 18 9..32 +0.5
NAT10.0PS 8252 78 2517 32 0000 0000 PS 44 61 ZS 0..10 30 9..32 +0.5
NAT16.0PS 825279 2517 32 0000 0000 PS 44 61 ZS 0..16 48 9..32 +0.5
NAT25.0PS 8252 80 2517 32 0000 0000 PS 44 61 ZS 0..25 75 9..32 +0.5
NAT40.0PS 8252 81 2517 32 0000 0000 PS 44 61 ZS 0..40 120 9..32 +05
NAT60.0PS 8252 82 2517 32 0000 0000 PS 44 61 ZS 0...60 180 9..32 +05
NAT100.0PS 8252 83 2517 32 0000 0000 PS 44 61 ZS 0...100 300 9..32 +05
NAT160.0PS 8252 85 2517 32 0000 0000 PS 44 61 ZS 0...160 480 9..32 +0.5
NAT250.0PS 8252 742517 32 0000 0000 PS 44 61 ZS 0...250 750 9..32 +0.5
NAT400.0PS 8252 84 2517 32 0000 0000 PS 44 61 ZS 0...400 1000 9..32 +0.5
NAT600.0PS 8252 86 2517 32 0000 0000 PS 44 61 ZS 0...600 1500 9..32 +0.5
H72303ag ~R—26/14 sensors & controls



NAT 8252

8

B ERE BIEEE BEEM EPigE
(ZS BitF) (ZC Hif#)

FF£ 5 SP1 (HIFER) 75 % N EEE >RP1,FL1(2...99 %) SP1

EFFES FHL (BOER) WE = 1%FS

SRS RP1 (EFAtS) 25 % N EEE <SP1,FH1(1...98 %) RP1

TF*=FLL(BOER) HWE=>1%FS

FF 5 SP2 (iFER) 75 % NEEE >RP2, FL2(2.... 99 %) SP2

EFFRS FH2 (BO%ER) HBEZ1%FS

S5 RP2 (BT f) 25 % NESEE <SP2,FH2 (1 ... 98 %) RP2

THxS FL2 (BORR) WE = 1%FS

FFsERYIE SP1/ RP1 (B FFAES) 0 0;£92:[ms),x=3,4...16 ds1

FF%mERTiE] FH1 / FLL (B OE)

FrxiEEETIE] SP2 / RP2 (EFF i) 0 0;£9 2*[ms],x=3,4.. 16 ds2

Frx#ER ] FH2 / FL2 (BOE)

IhEEFF X Ht 1 I, BFAS (Hno) 35 NO (Hno), oul
#fE NC (Hne)
& NO (Fno),
BONC (Fn)

IhEEFF X it 2 wHE, B (Hno) ENO (Hno), ou2
J#fE NC (Hne)
HONO (Fno), BH NC (Fne)
ZIREEERRE
ﬁ*ﬁw%&w [clagige])]

P> Google Play == Windows
€3 Bluetooth’

FF% 5. HERBY R A48 ThAE AT LU id Sensor Master Communicator (SMC)RZ A2 i
EMERMZESH, ZENARFTBETWindows (PC) ME & FMAndroid,
RENAAEGoogle PlayREd#kE, Windows Rz B AT FERERE & Tk o X Le f FRTE
FHEREN,

0 HIETISMIfR R A www.trafag.com/H72618
0 ERREFITENAEFIINEA (SMC)FZRR3EEH0(SMI)AIREA:
www.trafag.com/H73618

H72303ag Titg 7/14 sensors & controls



NAT 8252

BSHE BHES / HBBE 4...20 mA: 24 (9...32) VDC
0...6VDC 3B 24 (9...32) VDC
0...10.1VDC 5EE: 24 (15...32)
0.5...4.5VDC tt&,
10...90% U, :5 % 0.25VDC
13% 2 PNP &f&E: 24 (9...32) VDC
EFadE] g181E 1 ms/10... 90 %IiFFRES
FRERENT IR 100 ms
EEILREAT X 50 ms + FF %S AT Ia]
RERMER, 15 E @ 25°C, 5 2 FR 4..20mA:&A U =32VDC
0...6VDC 52, 0... 10.1VDC 58! bis U =28 VDC
0.5..4.5VDC tb%: JA U = 14 VDC
1572 PNP &{F%E: &A U ,=32VDC
FREH NERE -40°C ... +125°C
HiERE -40°C ... +125°C
(B34 PVC 22:-5°C ... +60°C)
(B34 PUR 24:-40°C ... +70°C)
(B34% Radox Tenuis 88: -40°C ... +100°C)
(DAl IP65, IP67, IP68
BE 5K 95 % HEIE
i&ah 15 g RMS (20...2000 Hz) (EN60068-2-64)
25 g sin (80...2000 Hz), 1 oct./min, (1x @ 25°C)
(EN60068-2-6)
& 50g/11 ms
100 g / 6 ms #E5HHEX M12x1 (EN60068-2-27)
EMCHEH#AY B EN/IEC 61000-6-3
T EN/IEC 61000-6-2
Wi EhE ERSES (1A R) 1.4542 (AISI630)
FEAEO (ERNR) 1.4542 (AISI630)
ohE 1.4301 (AISI304)
| FPM/EPDM/NBR
gL SITHER
£ 4950 g
REHE 25Nm
) BB

2 BFHESREO32M 35

H72303ag Tiig 8/14 sensors & controls



NAT 8252

BE BIREWH @-25...485°C [% FS $8(H] +1.75
FBE @+25°C [% FS B8 {E] 05
NLH @ +25°C (BSL) [% FS 8aRL(a] +02
TCERREMN2ETE [% FS/K BaEU(E) +0.03
1 ERKEEE @ +25°C [% FS ELEIE] +0.1
_EFBtiE BAENE 1 ms /10 ... 90 %ATHRE S

FrxEHH
BE RIRET @ -25...+85°C [% FS ELEE] *1.75
FRE @ +25°C [% FS 88 (E] +05
1 FEKERE @ +25°C [% FS F2E!fE] +0.1
FRAGETE 1...99%FS
FEREER 2 1.0%FS
FRR>ERR Arm>ERR
FrxEEMA <30
I IRIhEE i, B0, BFFAS (NO), Eidfts (NC)
FFXEBR -40°C... +85°C (FMENNBURE) < 400 mA, AN REIL R
+85°C ... +125°C (RERMNURE) < 200 mA, AR
= 2pl oG] &
R >100 x 10813
b= 0; 29 2¢[ms],x=3,4...16
FRE RA60 Hz (FFXiH/E0TE = 0)
MEFEE
7
6 —
5 = P
4 —
3 = == =
=82 i —— — — i
> 1
& 04-—{—t+-F+—F——+FFE——1+——— e B e
el —— r =T
=R — = —
4 — S
5 ~
6
7
50 40 30 20 10 0 10 20 30 40 S0 60 70 80 90 100 110 120 130
Temp.(°C)
max. — —  typ.—— 1 TEB(-25...+85)

H72303ag D185 9/14 sensors & controls



R~

|

\ 27.5 , 7
[ o
l— (o)
+ - —ps5e
— > (S
8252 . XX. XXXX.01.XX. XX
34.75 11.6
I _ oL v 3
I sl S
8252 . XX. XXXX.02.XX.XX
27.5 22.8
H_l\ /‘
34
8252 XX. XXXX.D3.XX.XX
34 27.5
] ! (oo}
_ _ | | _ [ __ ©o
=- ¢
8252 . XX. XXXX.08.XX.XX
54 .60
max. 5 mm 26
(s} |
= \
~
| o~
8252.XX. XXXX.XX.XX.33 8252 . XX. XXXX.XX.XX.34
TG 10/14

H72303ag

NAT 8252

2x1

|

|

\
018.8

8252.XX.XXXX.32/35.XX.XX

27.5 23.19

af

8252.XX.XXXX.D4.XX.XX

1.9

28 21

-
ln)

WEL
[

014.4
018.8

8252.XX.XXXX.22/24/88.XX.XX

sensors@controls



DIN 3869

8252.XX.XX17.XX.XX.XX 8252.XX.XX15.XX.

1/8"NPT

HEX19
2

(S

8252.XX.XX43.XX.XX.XX

0-Ring
08.92x1.83

M5x7 A
7/16"-20UNF
SAE4 (J1926)

HEX19

8252.XX.XX42.XX.XX.XX

DIN3858

R1/4"

8252.XX.XX19.XX.XX.XX

20
11

M12x1.25

Seal
DINEN ISO 6149-2

o~
—
>
1]
T

021

8252.XX.XX64.XX.XX.XX

H72303ag

G1/4"

NAT 8252

int. damgin;;;

00.5

8252 .XX.XX69.XX.XX.XX

21

12
S
ST
= O~
= S -
==
o= O —— |}
o~
=l
IS
8252 XX.XX20.XX.XX.XX
" 20
~
= 11
<
=
Seal =l
>l
DINEN IS0 61492 ==

8252.XX.XX65.XX.XX.XX

8252.XX.XX6 L. XX.XX.XX

R'I /8”
DIN3858
|
|

8252 .XX.XX16.XX.XX.XX

21

M12x1.5
DINEN IS0 9974-2

%)
Iy

=
=
=
w
©
>
N

8252 .XX.XX49.XX.XX.XX

21 24 18.5
12 15 8
" \
“ 5w %o &
SHIRIE 1 25| 1
[an)]

3 > Seal o
B =l DIN3869 |
3E s Tl= Tl

XX.XX 8252 XX XX53.XX.XX.XX 8252 XX XX54.XX.XX.XX
o~ >

o o

3 135 2 135
=| 45 S| 45
X o [H
Sl S
8.6\ HEX19 8.6 \HEX19
021 SRR

8252.XX.XX24.XX.XX.XX 8252.XX.XX44. XX XX.XX

O-Ring 1 ORing =10

(08.92x1.83 P12x2 = E

M5x7 M5x7
L
HEX19 SAE6 (J1926) HEXT9

1/4" NPT

HEX19
1

8252.XX.XX30.XX.XX.XX

22.5
L 45
=
SR
8ot
e
~
o~
==
e RS
8252 XX.XX18.XX.XX.XX
21
0-Ring |12
012x2 | ™
M5x7 f
9/16"-18UNF
SAE6 (J1926) 021

HEX19
8252 XX.XX6T . XX.XX.XX

-

DINENISO 6149-2

Sz =
= L]
o~
=S
Qe
8252 XX.XX32.XX.XX. XX
~ 20
o~
= 1
~O
w3
=z
=] |
— =
=5 -
o~
=<
s

8252.XX.XX31.XX.XX.XX

trafag

sensors@controls



NAT 8252

BSiEO
Piip LR B S
IP651 2 IP6702 IP671 2 IP67,1P68Y 4 IP67, 1P68Y 4
TilkimE M12x1 MIL-C DT04-3P DT04-4P
R 4-1% 5-1% 26482 31k 4-1%
9.4 mm
01 32 35
. 3 2 32
5
4- B
1 4
1
i—shfeld 90 | 92 E1|/E6|F4 |F5 /G2 |G5|G8 FO G3
P ®Us fposswebd=> | 5 | 5 | 1 1]/1|1/1/1|1|1|3 4 A A 2 2
|
4720 OUs begsebb>1 9 | 4 | 2 3/2/4|2(372/3/4/2 1 B|Cc 1 3
T—o«—@eclrih/housing—:» 3 4 412 4 4 5 3
8252 .xx.xxxx.xx.19
) 91| E3 |E9 95|96 |E2 | F6 | F7 Gl F3 F1 G4
P (4@ Uy o S0 1/2/3/1 1/1]1/1/1]1]1 2 AlA AA 2 2
>1—t@outowi—> | 21|13 2[3/4/3[2|2]|4 4 B|C c|B 4 1
V-0 Us s soot 3/4/2(2 3/4/3/2 /433 3 COBD g | ¢ 1 | 3
T—lo’—@earth/housing-:» 413144 42121413 5 E E 3
8252 .xx.xxxx.xx.13/14/16/17/20/22/
23/24/25/26/28/29
itaE 2 a3
IP67, P68 3) IP672 IP67, P68 2 3)
4G B4 B4
22/24 08 88
|
+—shie|d
L
P @Us (pos. Supply)—> E@, ﬂ@, Fﬁé
|
4-20mA © Ug  (neg. Supply}—> piacc) o:Re) 264
T—or—@ earth/housing > #E FE E=yE el
o 8252.Xxx.Xxxx.xx.19
{0
H 1
bl $—— shield
p :)\l Us  (pos. Supply) E@. a1t ﬁ;@
I>11® Out toup ——> 126 =1 ey
YU 11 ou, e s> o B B
T—lo,—@ earth/housing > EHE % B / ZE
8252.xx.00x.xx.13/14/16/17/20/22
23/24/25/26/28/29
DAERIREME REMNIETLIZELEN
2B Sk /B AR
3 1P68, 20 bar, 30 min.
4 |P68, 100 mbar, 4h
H72303ag D185 12/14 sensors & controls



BSEO

PSR/ SER
IP67,1P682 ¥ IP67,1P68 1 4

NAT 8252

IP67 22 IP67, 1P682 IP67%
M12x1 B B4 B4 DT04-3P
415 3-1k
22/24 08 88 D3

32
32
1

. PS T1 PS Tl PS T1 PS T1 Tl
+—shield
N
p @ Us (pos.Supply) —> 1 1 HE HE ae a6 I I8 A
® SP1 4 4 5 3c) 5 3c) BHE BHE ) ] C
Out ® SP2 2 - #HE - 5 4] - #H g6 - -
© Us (neg.Supply) —> 3 3 It It 2f L) & L] B
L"
8252 xx.xxxx.xx.PS/T1
VR ERIREBME T EMRTLIELER
VB L/ BAHS
31P68, 20 bar, 30 min.
41P68, 100 mbar, 4h
sensors@controls

H72303ag

TiRg 13/14



NAT 8252

4...20mA: min./max resistor vs. supply voltage @ Pmax = 100%

1200 I
B R— 4 p -
- — - R 7 T
1000 seccccee R:?:wo"c t—Us-
T Rmin 125°C A @
= 7
g a0 L sp1,5p2
5 % | RL
3 z g =
5 600 earth us -
§ A LA
2w - ‘ PREEET R
2 Z »
S 7 y
200
/
7 ,//
0
0 5 10 15 20 25 30
Customer Supply Voltage (V)
&k
TheeFr Xtk
B ]| il
P P P

SP |--rmemme e FH SP|--FL-Ff
FL P
P

ON ON p— ON
Hno Fno I Hno
OFF - OFF e OFF
}
ON p— ON  frm— ON "
Hnc Fnc I I Hnc
OFF OFF — OFF

pre =} HIET www.trafag.com/H72303
1RIERBAT www.trafag.com/H73303
INBF www.trafag.com/H70666

H72303ag Tig 14/14 sensors & controls



